TOP

[ 1] [L/h] [L/min]
20 0 0 25 10
15 0 0 15 10
(FV) 0 0 13 10
(FV) 0 0 4 10
0 0 10 12
0 0 4 16
[L/h] 0
[L] 0
[L/min] 0x2 80 x 200L/min
[ 1
[L] [L/h]x [kw]
_QIL/min]>x h[m]
[L/min]= [mx 2x 1v60. L1777 6120 n p
Q[L/min]:
h[m ]1:
ne (n p =0.45)
13
[ 3/h] [ 3/h]
(G ( )
Si[ 1] 0 0
S2[ 1] 0
[L/min] 0 0
[L/min] 0x2 0x2
443
[L/min] 100[L/min] 200[L/min]/1000
1JL/ *m2) ]
L 1 [ 2] 1000
100[mm/h] 0.1[m/h] Q[L/h] 1000
[ 3/h] 1[ 1% 0.1[m/h]x 1/3 Q" [L/m ] 16.7
[ 3/h] { 1[ 1x 0.1[m/h] 2[ ]x 0.1[m/h]x 0.5}x 1/3
[ 3/h]x 1000
[L/min]

60
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